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Multiply. 
 

1) ቂ1 32 4ቃ ቂ−1 02 1ቃ = 

 

 

2) ቂ1 32 5ቃ ቂ−5 23 1ቃ = 

 
 

 

3) ൥ 2 1 3−1 3 04 2 −1൩ ൥ 1 2 1−3 0 11 2 3൩ = 

 

 

4) ൥321൩ ሾ2 1 3ሿ = 

 

 

 

Given:     ܣ = ቂ2 −10 1 ቃ ܤ      =  ቂ1 −12 3 ቃ ܥ      =  ቂ−1 32 −1ቃ 

 
Find ሺ2 × 2ሻ 
 
 

ܣ (5 + ሺܤ + ሻܥ = 

 

்ܤ்ܣ (6 = 

 

ሻܣܤሺ்ܥ (7 = 
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8) Write in matrix equation and solve for the matrix ቂݕݔቃ 

ݔ + ݕ2 = ݔ3 4 − ݕ2 = −2 

9) Solve: ቂ3 −49 2 ቃ ݔ = ቂ−49 ቃ , ݔ = ቂݕݔቃ 
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Answer Key 

1) ቂ5 36 4ቃ 

2) ቂ4 55 9ቃ 

3) ൥ 2 10 12−10 −2 2−3 2 3 ൩ 

4) ሾ7ሿ 

5) ቂ−4 24 2ቃ 

6) ቂ 2 4−2 1ቃ 

7) ቂ6 42 −7ቃ 

8) ቂ−23 ቃ 

9) ቎ଶଷଷଶ቏ 

 
 


